Imagine 1 Név
1.  Tollszin kék 10. 90
A [ haza C [ Hatszog A[] haza Ccd hoo
B [ tsz! "kék D[] b90 B[] ism4[e 50 j..] D[] tsz! "kék
2. Hatra90 11. 60
A[d haza B[] tv'6e C[]jo D[] h9o A [ haza Cd ism3[e 50 j...]
B [ Téglalap D[] ism6[e 50 j..]
3. Jobbra 90
AL joo C 0 Haromszog 12. 45
B[] ism6[e 50 j...] D[] h9o A haza C[ tvle6
B[] ism8[e 50 j..] D[] ism4[e 50 j...]
4., Tollvastagsag 6
A e90 cd h9o 13. ism3[e100j120]
B[ tsz! "kék D[ tv'6 A [ tsz! "kék C [0 Haromszog
B[] ism6[e 50 j...] D[] e90
5.  El6re 90
A [ haza Ccd e90 14. ism4[e50j90]
B[] ism3[e 50 j...] D[] Négyzet A [ Négyzet C[d ism4fle 50 j...1]
B [J Haromszog D[] tv!'6
6. Balra90
A[] ism6[e 50 j..] C[] ism8[e 50 j...] 15. ism2[e50j90e 100j90]
B[ b9o D[] ism3[e 50 j...] A [ Téglalap C [ haza
B[ tv6 D[] Négyzet
7.  Képernyd torlése
A ism6[e 50 j..] CO b9o 16. ism6[e50]j60]
B[] Négyzet D[] torolkép A [J Haromszog C [ Hatszog
B[] ism8[e 50 j..] D[] ism6[e 50 j...]
8. Kezdb6pont
A[] joo C [ Téglalap
B [ haza D[] ism6[e 50 j...]
9. 120

A[] ism6[e 50 j...]
B[] boo

C [ Téglalap
D ism3[e 50 j..]
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